






































To do a certain work, the ratio of the efficiencies of A, B and C is 7 : 5 : 6. Working together, they

can complete the same work in 35 days. B and C work together for 21 days. The remaining work

will be completed by A alone in:

एक निनित कार्य को करिे के निए, A, B और C की क्षमता का अिपुात 7 : 5 : 6 ह।ै एक साथ कार्य करते

हुए, वे उसी कार्य को 35 नििों में परूा कर सकते हैं। B और C नमिकर 21 नििों तक कार्य करते हैं। शेष कार्य

A द्वारा अकेिे परूा नकर्ा जाएगा:

(a)60 days 

(b) 57 days 

(c) 54 days 

(d) 50 days 




